)

=

T

(nh

2l Basic_1

=

b o) A

A
s

01-02

2025.05.26

0
0 N
o
= .
. — o
—_
~ Yoo ~ o [ap)
o g § :
o o g g E < < 0 ~
P BeS2. @6’ PTooNE DEOFD
]]]]] o lrwl v B e e G g gt v v v
n_/d Bn fdn Pdn gn fm v S Qv v o T T T RO KO T T T T O
o5 T T X T RO X0 WO X T A AU
o ST T S AN MYl 6T
— AN M < O © b~ o0 O — = = = — —~ — — O




2025.05.26

1
Ly:5><(180°—70°)=55°

AD /BCOER sz=/B=sy=55" (597}
2) (A" ®

(314 ]

@, @, @ BD=CD, #BDE= /CDE, ED¥ Z%o|nz
AEBD = MECD  (SAS#E)

©® ol5HAatztge] A Ao] ¢)sle] BCLEDo| R
/BDE = 90°

MBC °lA AB=ACo|E=
LABCZ%X(lSO" —50°)=65°

MBD °14 AD=BDo¢]|=& /ABD=/A=50°
. /DBC= /ABC— ZABD=65"—50° =15°

ADBC £ ol5wAtztglolmz DC=5(cm)

/A =130°—65° = 65°
webd] LA=/Bo]EE MBC = AC=BC¢
o] 5 a0l ).

. x=AC=38

6) [4¥] 6cm

AD /BCo|m2&

/CAD= 2BCA(%17})
/CAD = /BAC(HL 7})

/BCA = 2BAC
et AABC & ol SHA g n R
E: B_C: 6cm

7 [HAE] @

[ ]

(@ RHS3% %

8) [Hg] @

(&4 ]

ADBA = AEAC  ©]E.2 DB= AE=7, AD=EC=30°]|t}.
R MBC €] Bl ol
(AFeH2]E BCED 9] 4io])— ADBA — AEAC

X
LS RS

[317d]
MDE ¢} ACE °llA

/ADE= /ACE=90", AE¥ 3%, AD=AC
o|lmZ

MDE = MCE  (RHSE-5)

. ﬁ=@=4cm

ADBE o4 2B=45°ol2=& /DEB=90° —45° =45"
. BD=DE=4cm

10) ("] ©®

[a14 ]
MOP ¢t ABOP A

/PAO= /PBO=90°, OP¥ 3%, PA=PB
ok AAOP = ABOP (RHS &&)olB=E

AO=B0O, £APO= 2BPO, 2AOP= £BOP




Q Z~5lod o]
[ =3 O
1D [(BE] @ 17) [AY] 32°, 30°, 28°
(&4 ] [ ]
@ A7+ o] QA Al Wo FHo]FiAe] ol IA, IB, IC= #7F /A, /B, /CE o|S8sna
/IAC= /IAB=32°
12) [#%] 9rcm? /IBA= 2IBC=30"
/ICB= /ICA=28"
[ 4] SLx=32°, Ly=30", £2=28"
A2 8 o] A2 HiHe] FH-oln=z o Yo dxFS
3cmo|t}. 18) [AH] @
weha] 919l Wolis rx3” =9r(em?)
(&4 ]
13) [A%] 14cm, 100° MBC ¢ =€ ZolE zeme} ot
AABCZ%X4><$—60
(&4 ]
o . x=30(cm)
OA= OB=0C=7cm
AB= OA+OB=7+7=14(cm)
o 19 (A1 @
OA=0Col=Z LOCA=LA=60°
. ZOBC=50° +50° =100" (4]
o=
14) [H¥] 24~
R
9lo] 183 o] IB, ICE Z+zk 10W ADBI, AEICE
ol ol
ﬁ=ﬁ=4cm,
o o ElI=EC=5cm
0A% 2% OA=OB=0Col== DE= DI+ [E=4+5=9 (cm)
/OAB=/0BA=30°
ZOAC=54"—30° =24° o] &
20) [4%] ©
Zx=/0AC=24"
(&4 ]
15) [4w] 65° MBC o UAE T2t 3h
MBC = AIAB+AIBC + AICA
(&4 ] oz
ZOAP=90°0]E2& /2=90° —25° =65" .
5xﬁxss:—wx(10+8+6)
16) [d¥] @ 12r =24 . r=2(cm)
Tk, A ZabzEE o] Q)AL HIWMe] FH] glor R
(&4 ] ALY HkxEo] Hol=
AMBC o WA TollA Al Wol o2& Ags Zor=g R_l><10:5(cm)
EZEZFZi’)cm 2
rty=3+3=6  R+r=5+2=7
8
8




